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M SOl MAD|BHEY)
el sgolet (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
DXE &€= 2 TEAY
20,000,000 20,000
kol 23 Ws £2 YWY TV &X
20,000,000& 20,000
1ol BHE0IES ZE3A
25,000,000& 25,000
NEL Y32 48X =s2EH
10,000,000& 10,000
NEL Y32 B s22E
15,000,000& 15,000
X tholel 2059-1 til=2 b
20,000,000& 20,000
DX Zate| 329X gH=AlE Ol
20,000,000 20,000
N tiolel 2 =4 20,000,000& 20,000
DX Zate] 414-1 tis=AlE HA
30,000,000 30,000
DX Zake| 363X I
20,000,000 20,000
DX 0lEel 973-6 HHSAL
20,000,000 20,000
DY nsYXH DetRE
20,000,000& 20,000
DX St XH et
20,000,000 20,000
B2 20t b2 Jbl
15,000,000 15,000
1)ote 82018 =2 X &
20,000,000& 20,000
1ot Xiel2dl 12tRE 20,000,000& 20,000
Derx Xtetdl JetRE 20,000,000 20,000
Detx M JetRE 20,000,000& 20,000
NE 2t=2l =2 SUISAL
20,000,000& 20,000
NEN DIS0E s22F
20,000,000 20,000
2| EH(BX) 1,000,000 1,000,000 0
401 A& B2 20HY| 1,000,000 1,000,000
01 AlEHI 1,000,000 1,000,000
eI LA XA
1,000,000,000& 1,000,000
EDIBHEH| (& EANY) 2,987,500 2,537,875 449,625
= 2,688,750
= 298,750
401 A& BIZ20HbI 2,987,500 2,537,875 449,625
& 2,688,750
= 298,750




SN SR
M Sl MAD| R
el sgolet (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,985,500 2,527,875 457,625
1) IBHEHIAFY 2,985,500,000& 2,985,500
= 2,686,950
o 298,550
03 AIESTHYI 2,000 10,000 28,000
12D EHIAIY 2,000,000& 2,000
== 1,800
s 200
P& BXHLI(HEAIY) 866,250 375,000 491,250
S 744,975
= 121,275
401 Al HIZL 201 866,250 375,000 491,250
= 744,975
[Ea 121,275
01 Al&H| 864,250 372,500 491,750
NHTEZXHe A 864,250,000 864,250
= 743,255
o 120,995
03 Al 20HHI 2,000 2,500 A500
NUTEZXHel At 2,000,000& 2,000
< 1,720
= 280
NE=S2ZHL (HEAY) 1,438,000 3,211,571 A1,773,571
401 AIE2HIXL S THYI 1,438,000 1,428,571 9.429
01 Al&H| 1,438,000 1,343,571 94,429
NA2X 7 NESELHLAY
650,000,000 650,000
NYEEXNT NESELHLAY
500,000,000 500,000
NASKT XNE=E22AHL A
288,000,000 288,000
JIHS B A2 T (M EALY) 3,300,000 1,014,286 2,285,714
401 AIEHIX R0 3,300,000 1,014,286 2,285,714
01 A28l 3,300,000 1,011,286 2,288,714
DA DI SEE A
3,300,000,000& 3,300,000
I EHI(FRIEO0lIAH) 2,885,000 2,812,000 73,000
401 AIEHIZ SR 0HYI 2,885,000 2,812,000 73,000
01 Al&H| 2,885,000 2,812,000 73,000
NXE "s0te 22 X2 ZHISA
20,000,000 20,000
NAE SEFY S8 =2 E4 3A
20,000,000 20,000




2A:
X XH -
o e

=aak

- ZF - HRA(3A) - MRAY

- ESS

H
ol &y

2 =2 =2 Hul

AF2T BEAIE BA
&322 h4+2 ZHIAY
=242| HEZTBA

SE842| =2 3|

202l g2 SLEAMY

tE2e] M2 SHIA

=012l === HHIAZ

it =2 EEAY

SANOE HH EXISA

ZO0HS WAL XIS A

S0 HH4L2 2X

ZA0E AL XIS A

A0S HAH SA

SHAOFS =2 ZHIAHY

S S0tS Bi===2 ZHIAY

0B

20,000,000&

20,000,000&

10,000, 0002

10,000,000

20,000,000&

20,000,000

20,000,000

20,000,000

20,000,000

20,000,000

20,000,000&
15,000,000

15,000,000

15,000,000

15,000,000

15,000,000

15,000,000

15,000,000

15,000,000

15,000,000

20,000,000

20,000,000&

20,000,000&

20,000

20,000

25,000

20,000

10,000

10,000

20,000

20,000

20,000

20,000

20,000

20,000

20,000
15,000

15,000

15,000

15,000

15,000

15,000

15,000

15,000

15,000

20,000

20,000

20,000




SN OHET}
M =QMAT B
el sgolet
S A - BRI - HRA - BES of e A
A =202 =2 ZHIA
20,000,000& 20,000
YA HEOS =2 HHIAIY
20,000,000& 20,000
NYA S20t2 =2 FHIAIY
20,000,000 20,000
)&t ot0HS =2 ZHIAM
20,000,000& 20,000
DX st2el =2 ELA
20,000,000& 20,000
DXE DU0E &2 Y AXI3A
20,000,000 20,000
N2 &0 tH==HAH SAt
20,000,000& 20,000
N2 Sitte =2 =2 X
20,000,000 20,000
NHIZ & E0S =2 FHIAIY
20,000,000 20,000
NHIS &100t2 =2 ZHIA
20,000,000& 20,000
NHIZ D0S =2 FUIAIY
20,000,000 20,000
NHIZ 402 =2 FHIAIY
20,000,000 20,000
NHIS AEOE =2 FHIAY
20,000,000& 20,000
DEIZ =Z0t2 IHHSAL
20,000,000 20,000
NExE XS sti=2 ZX
20,000,000 20,000
NEx g=2l sti=2 £X
20,000,000& 20,000
Nex &el M=E &1
20,000,000 20,000
Nex =gl 842 &1
20,000,000 20,000
&= 0l=6el g2 4X
20,000,000& 20,000
Nex LMFA 201 £X
20,000,000 20,000
Nex &dc stis=2 EXI3A
20,000,000 20,000
Nex Oiel stis2 EXI3At
20,000,000& 20,000
1S4 Al2I0E s2X Bi+=2 |
20,000,000 20,000
1)5tel 22e| g2 XA
12,000,000 12,000




SN SR
. YLD
el sgolet (e A
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
1)5t2l 2332l g2+ XA
12,000,000 12,000
1)5tel 8242 s+=2 M==2 XA
10,000,000& 10,000
1)5tel 2842] tis=Ald HHIAIY
20,000,000 20,000
1)5t2l 01222 His=Al4 EHIAY
24,000,000& 24,000
1)stel oi212l ti+=2 FHIA
12,000,000 12,000
1N&lel AM57 Ot JY=2 JHI
20,000,000 20,000
1alel oS =2 WA A
20,000,000& 20,000
Nalel A=0E s+2 HH SA
20,000,000 20,000
NEL 4Z0t2 =2 FHIAIY
20,000,000 20,000
N 2312 =2 i EXA
20,000,000& 20,000
&4 OE=0HE B2 JUIAY
15,000,000& 15,000
NEL SHI0S =2 FUISAt
20,000,000 20,000
etz SIS 22 FHIE2 ZTEAY
15,000,000 15,000
1etat el HYE &R ALY
25,000,000 25,000
1)etxt E2xe| ord =2 FHIAIY
20,000,000 20,000
1)etat el =2 HEAY
20,000,000& 20,000
1)Qtxt OtElR] RIS AE FHIALY
20,000,000 20,000
1)QtE ANl SIIBAIE HHIAIY
20,000,000 20,000
1)etat gael s4+2 JHIAY
20,000,000& 20,000
NZ23 FE2l ASAE FHIAY
20,000,000 20,000
NEZ U =2 ALY
20,000,000 20,000
Ng=s Jakel =2 FHIAY
20,000,000& 20,000
1NE 24H0IS =2 HHIAIY
20,000,000 20,000
NEN &00te =2 HHIAY
20,000,000 20,000




SN SR
M SOl MAD|BHEY)
el sgolet (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEE el 952 ZLAY
20,000,000& 20,000
e AlAR] g2 ELAY
20,000,000& 20,000
NXE AS =2 20,000,000 20,000
NAE 28 s2ZE A
10,000,000& 10,000
NAE s s+2 ZHISA
20,000,000 20,000
NAE 3 =2 FHISA
20,000,000 20,000
NAE E& HEEL DA
30,000,000& 30,000
NXE &8 =2 3At 15,000,000 15,000
NE & s2EE SA
10,000,000& 10,000
NDXS EfFEl 921 L& S HXISAt
20,000,000 20,000
DRIE Wl 791-1 SHSA
30,000,000 30,000
NXE Wekel 791 =2 Ftl
20,000,000 20,000
N Scl 2589-1 HHFHISAt
20,000,000 20,000
o =20t ZEHIA
25,000,000 25,000
1N StesM B2 EXISA
10,000,000& 10,000
1ol =002l HHEXISA
15,000,000 15,000
Nl F2el 2LE SH XIS
10,000,000 10,000
1o SE2I 826-3 HHEXIZBA
20,000,000 20,000
Nl JIE17? ZESA 20,000,000 20,000
ol =20Hel s+=2 ZHIAIY
20,000,000& 20,000
Nt sMel s+=2 FHIAIY
20,000,000 20,000
1)EX SO0HXI0S =2 ZXISAt
20,000,000 20,000
NEE 1002 =2 EXI3At
20,000,000& 20,000
YR tol2l AH4TE R =2 ZH
30,000,000 30,000
NYX E&el 534-10 =2 FH
30,000,000 30,000
1A tholel 20589 ti==2 FH|
20,000,000& 20,000




SN SR
S SHMAD|EHEH|
gl seolet (S &
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
DX tolel 863 s=2 &I
20,000,000 20,000
NYX £&tel 88-1 s2 Ji|
20,000,000 20,000
N E&te] ZX BEAE 4R
20,000,000& 20,000
DX E&tel 978 s2 &l
20,000,000 20,000
NI Zate] 354 =2 |
20,000,000& 20,000
NYX E&tel 233 28|
20,000,000 20,000
1R AR JHHALS 20,000,000& 20,000
DX HFSH M=K J2tRE
20,000,000& 20,000
NI A8 Y==Kl D2tRE
20,000,000 20,000
NYX PS4 Dot
20,000,000 20,000
N X2I0IE HHSAH
20,000,000& 20,000
NI 2A0FES WA S A
20,000,000& 20,000
NYX S&0IE WAHSAH
20,000,000 20,000
NI A0S JHHZ A
15,000,000& 15,000
NYX SL0IS =2 UIAIY
35,000,000 35,000
DA JA0IE ESLEBA
20,000,000 20,000
NS 2=l HAH &M 5,000,000& 5,000
NA2 st2el JHA 30,000,000 30,000
NA2 UEel JHH EX SA
20,000,000& 20,000
N2 120tS a2 FHIA
20,000,000 20,000
NHIZ JIM0IE S22E AMY
20,000,000& 20,000
Nul2 SU0S ti=2 E&EAIY
10,000,000 10,000
a2 Lelits a2 FUIAg
5,000,000& 5,000
NEx «=Ci0t2 =2 &4
30,000,000 30,000
NEx Al20t2 =2 il
15,000,000 15,000
NEx Fdel =2 Fy|
20,000,000 20,000




FA S EL
. YLD
o9l saoe EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEX U0ES 2 Y
20,000,000& 20,000
NEx &2 a2 HHEd
30,000,000& 30,000
1)5tel 282l s2 FHIAIY
20,000,000 20,000
1)t 8=2l g2 g2 FJHIAY
20,000,000& 20,000
1alel Jtete] Az EE
30,000,000 30,000
&4 WR2| =HA 20,000,000 20,000
NZH el =2 FHIAY
30,000,000& 30,000
1)tz SA2| ARRIRE A
10,000,000 10,000
1etxt tiEel =Z2&H| At
20,000,000& 20,000
etz Sl UFER ALY
10,000,000 10,000
1erxt ti=el X7 JtE AtY
20,000,000 20,000
1)etEt tHAEe| 2K+ JtRE At
20,000,000 20,000
1)0tAt CHel HH==2FH] At
30,000,000 30,000
1)etxt &2H JdeteE A
20,000,000 20,000
Netst sPSMa=X JetE Al
20,000,000 20,000
1)etzh =2 FHIAIY 20,000,000 20,000
Ngs del +2FH| & ZEAIY
20,000,000 20,000
&2 ZEel tH+2 A (LuikE)
20,000,000 20,000
1E a7 JHHSA 10,000,000 10,000
NYE d3el Y=z FHl
20,000,000& 20,000
NE =&l M==Xl DeteE
20,000,000& 20,000
e F=E2| HASA 30,000,000 30,000
A2 RS (HEA) 62,500 663,750 601,250
= 50,000
= 12,500
401 AlEHIZ 2 0HbI 62,500 663,750 601,250
= 50,000
Ea 12,500
01 A28l 60,500 625,750 A\565,250




SN SR
. YLD
el sgolet (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR AL 60,500,000 60,500
= 48,400
= 12,100
03 AIZ S THYI 2,000 4,000 A2,000
A2 A 2,000,000 2,000
s 1,600
s 400
sEE> 20,967,483 11,194,372 9,773,111
= 8,508,960
=S 2,857,392
s 9,601,131
sgEs 111,728 35,045 76,683
201 et 3| 8,148 9,105 N957
01 At2t2l] 8,148 9,105 A957
=8+ AMREEHI 480,000 480
=Xt +EIMN =52
11,0003 #5500 2 6,105
NEAE 22 7
3,000&*62H 186
NsgE+ YR A
9,000&*3E*513] 1,377
202 04l 5,580 5,940 A360
01 =LHAHI 5,580 5,940 A360
=& PRFT AL
60,0002 x3& #3135 5,580
401 AIEHIX 20HH 98,000 20,000 78,000
01 AlZ2H| 98,000 20,000 78,000
=g M==Xl Mg Fhl
10,000,000& 10,000
NS SSX=X BI&THHHAE (EP) =8
44,000,000 44,000
1ol =2tX==X BI&THXH & () =&
44,000,000 44,000
gz gx2mE(2X) 18,849,421 10,134,327 8,715,094
= 8,508,960
= 1,557,392
o 8,783,069
401 AlZHIZ 2018 18,849,421 10,134,327 8,715,004
= 8,508,960
& 1,567,392
= 8,783,069
01 Al&H| 18,764,101 10,057,536 8,706,565
NAE BSIXT L2/ EHN LA
1,892,363,000& 1,892,363
= 946,182




SN QISR
S SHMAD|EHEH|
SRS ST=IN (SHol: 12
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 189,236
= 756,945
e 2E3X 7 X2 LM HESA
805,891,000& 805,891
=2 402,946
= 80,589
2 32,356
DXE EBHEXT 2HRILER HSLAS
418,962,000 418,962
= 418,962
NAS ASHXF XL2e|UER HE=At
A 2,042,620,000& 2,042,620
=2 1,021,310
= 204,262
= 817,048
1alol SEXIT NYRLER H24Me
983,763,000 983,763
= 491,882
& 98,376
= 393,505
DXE LEXT NS |LZH HESAS
755,212,000& 755,212
= 377,606
& 75,521
i 302,085
1)otel 222X 7 K22 AR HE = Ate
2,271,792,000& 2,271,792
= 1,135,8%6
& 227,179
i 908,717
1ot SERSX7 X2 /SEH HE+
A 655,842,000 655,842
= 327,921
& 65,584
i 262,337
1ot AEIMMI| 7 Ky |exr IHE S
AteS 775,086,000& 775,086
= 387,543
& 77,509
i 310,034
NEZ SZ1XF K22 AR HE+ALY
1,414,888,000& 1,414,888
= 707,444
= 141,489
= 565,955




DA OHEB
PSRL N A BHEH|
SRS ST=IN (SHol: 12
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
EN OIE X2 22l ZH HESAY
297,840,002 297,840
2 297,840
DHIS SAHXIR TYBRILEH HBA
198,560,000& 198,560
= 99,280
= 19,856
i 79,424
DAlSl DH2l X7 X2l ZH HESAS
357,732,000& 357,732
= 298,110
= 59,622
DXE dEAX 7 NLZelLZHM N2 AL
A 59,568,000& 59,568
2 49,640
< 9,928
e BAKIT NLRLER N2
119, 136,000& 119,136
2 99,280
= 19,856
12 AT MORRI R XL BILER L
A 326,729,000 326,729
= 272,274
< 54,455
)5l SEXI7 KYBILTR B2 AL
99,280,000 99,280
2 49,640
= 9,978
2 3,712
DR SEXIT KIYBRIYEH HS4AY
59,568,000 59,568
= 49,640
= 9,928
DXt HFHEXT NLRISER HEA
A 198,560,000& 198,560
= 99,280
& 19,856
i 79,424
DA SE2K 7 K222/ HE AL
366,676,000& 366,676
= 305,563
= 61,113
1A MEXT NYBIYTR S
274,013,000 274,013
= 228,344
& 45,669
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SN BRI
S SHMAD|EHEH|
SETREISE PN (=CR-E))
. = SIE]
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
DNEN 2E3X 7 RS2 LM HESAL
(ML) 118,000,000& 118,000
alo] ASHIT NYR2IYER HLAZ
AH(24H) 55,597,000& 55,597
1alo] X7 K2l L AN HE =S AK
244) 55,597,000& 55,597
EE SIEINT NLRALEN HESBA
(244) 39,640,000 39,640
1)QHE OHOIKIT XILBH2ILER HBSBAK
24H) 228,948,000& 228,948
DX HEXT? KYBILTR HSEZAK
244) 254,387,000& 254,387
DEA MEIX? RS2 ISEH NESS AL
(2414 214,639,0002! 214,639
1)5tel MK KYB2IYER HESSZA
(244) 166,790,000& 166,790
1)8to] 22X NYBILEH HELSBA
(244) 240,078,000& 240,078
DHIZ SAHXIT NSRS EH HELTBA
(244) 19,856,000 19,856
1alel iR NYBILER HSEBAK
24\4) 19,856,000& 19,856
Dol AFSMAZXI R Xgt2e|2EH HE
+=3AH244H) 19,856,000 19,856
1ol PERXIT KB YIH HSLZA
(244) 19,856,000 19,856
DX SEKT NYBULIH HSEBA
(244) 19,856,000& 19,856
DEL AZE2X T K222 AR OHESS AL
(242) 19,856, 00024 19,856
DAL 2K NYBILEH HSEBAK
244) 19,856,000 19,856
1)5tel SPOIBXT NYRLEH HEL2
AH(24H) 19,856,000& 19,856
1)5tel THEN T NYR2ALER HS4Z
AH(244) 19,856,000 19,856
03 AIE 2 CHHI 85,320 76,791 8,529
DXE EFSIXIT X2 EH HESA
6,837,000& 6,837
= 3,418
= 684
= 2,735
NEN 2E3X 7 RS2 LEH HESAY
5,109,000& 5,109
= 2,554
& 511
= 2,044




A OS2
M SOl MAD|BHEY)
el sg8sF (e A
=] X . CLO|( 5 SAIY - HAS }OH ST HID=2t
—rkl'é'—|';_'r‘|(§|}")'k”—|— I' p L= 0:"&—| O:H&OH IJ-Lo:l
b |

DXZ

EHE X7 =ot2el M JHE=At
3,038,000&

ASUX TP X2 OHE At
7,380,000&

StEXl+ K22 H HEa=ArY
6,237,000&

LEX 7 NY2e|YEM HE At

4,783,000&

S E2K 7 N2e|YEH HE=AtS
8,208,000

O AWIJINMXIF X2l HE=

4,914,000

SEE1RIF K2/ XIA HE =AM
5,112,000&

OrE X7 =orA2|2 M OHE =AY
2,160,000

oMK Ng2e| 2 XH JHEa=AtS
1,440,000

H

MW Mo W Mo W Mo HoH W HH W

H MW

MW

3,038
3,038

7,380
3,690

738
2,952

6,237
3,118

624
2,49

4,788
2,3%

479
1,915

8,208
4,104

821
3,283

4,158
2,079

416
1,663

4,914
2,457

491
1,966

5112
2,55

511
2,045

2,160
2,160

1,440
720
144
576




S
HH: Sl MAD| B
SETREISE PN (Srol: &l
> -|l|_j
SA - B - SASH) - MSALY - ol &t e HIDSZ

1A DHel X7 K22l YA HE ALY
3,780,000&

NAE ELXNT NL2/SEH HE At

o 720,000
el FAXR N2 HEAY
1,440,000
N A MAZX R XLl LEH HE
A 3,452,000

Nl Pa2X7 N2l LN HE+A
720,000

NYX EE2X 7 KL LM HEFALY

1,440,000
NYA HEEXF KY2e/2ZH HES=A
& 1,441,000&

NXE KSE2K 7 XL2e|LEH HSSA
3,874,000

NEL AE2X P N2l LEH HE=ALY
3,312,000&

Mo W MW MW MW Mo W Mo W Mo W Mo

HoH W

3,780
1,890

378
1,512

720
360

72
288

1,440
720
144
576

3,452
1,726

345
1,381

720
360

72
288

1,440
720
144
576

1,441
720
144
577

3,874
1,937

387
1,550

3,312
1,656

331
1,325




2A:

S 2
M SOl MAD|BHEY)
SRS ST=IN (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
& S F X2elLEM HEFAY
2,880,000& 2,880
= 1,440
[ 288
T 1,182
1)otel SF0IBKI7 XL2Ae LR N2 AL
& 1,440,000& 1,440
= 720
< 144
s 576
)5t CESXF N2 /LEM HE A
& 1,440,000& 1,440
= 720
== 144
= 576
LI AN E = (HEALY) 1,625,000 1,025,000 600,000
= 1,300,000
o 325,000
401 Al HIZ S OHbI 1,625,000 1,025,000 600,000
s 1,300,000
s 325,000
01 Al&HI 1,621,000 1,018,170 602,830
Nex EXF S2AE HEFAY
810,500,000 810,500
& 648,400
= 162,100
NEx LOHXIF elAlE HEA
810,500,000 810,500
= 648,400
o 162,100
03 A& S CHYI 4,000 6.830 22,830
Nex ZXF S2AE HEFALY
2,000,000& 2,000
= 1,600
= 400
NEx LHXF S2AE HEFALY
2,000,000 2,000
=S 1,600
s 400
JrstiglE e 200,000 200,000
401 AlEHIZL SO 200,000 200,000
01 Al&HI 200,000 200,000
Notsg+ 212 HAAY
200,000,000 200,000
LI AIEHE(SLAI) 181,334 0 181,334




SN SR
. SYHLD|BHEY]
SRS ST=IN LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 181,334 181,334
01 Al&H| 181,334 181,334
NXE =51 =2AE HEx
2,500,000& 2,500
NEX 21 2IAE HE*
178,834,000 178,834
#HY2EIH(AHESZ ) 31,920 25,200 6,720
Jl=3H| 31,920 25,200 6.720
Jl23tl(teESZmn) 31,920 25,200 6.720
201 er2 3| 4,440 3,000 1,440
01 AtR2te|HI 4,440 3,000 1,440
NEASY ARzl
120,000 +37& 4,440
202 04| 17,280 12,000 5,280
01 =LHOLI 17,280 12,000 5,280
NEA2E SO
60,000 23 83! 11,040
NEANSY 22 Ui
60,0002 x132+83] 6,240
203 =2l 10,200 10,200
01 D[22 HIR S| 6,600 6,600
1)JI 2GR 550,000& * 128 6,600
M EASHLRFAH 3,600 3,600 0
1)25e1015t 300,000 * 122 3,600
HRas(AES2Y) 324,000 300,000 24,000
LIS HHKIZE 324,000 300,000 24,000
WEHH X ZE 324,000 300,000 24,000
@RJ1sdEs 324,000 300,000 24,000
0 JI=dEs 324,000 300,000 24,000
D22 Hes 324,000,000 324,000




